# A STUDY ON THE INTEGRAL OF THE PRODUCT OF SEVERAL BERNOULLI POLYNOMIALS 

DAE SAN KIM AND TAEKYUN KIM


#### Abstract

The purpose of this paper is to give some properties of several Bernoulli polynomials to express the integral of those polynomials from 0 to 1 in terms of beta and gamma functions. From those properties, we derive some relations on the integral of the product of Bernoulli polynomials and new identities on the Bernoulli numbers.


1. Introduction. The Bernoulli polynomials are given by the generating function as follows:

$$
\begin{equation*}
F(t, x)=\frac{t}{e^{t}-1} e^{x t}=e^{B(x) t}=\sum_{n=0}^{\infty} B_{n}(x) \frac{t^{n}}{n!} \tag{1}
\end{equation*}
$$

with the usual convention about replacing $B^{n}(x)$ by $B_{n}(x)$ (see [1-4, 6-23]). In the special case, $x=0, B_{n}(0)=B_{n}$ are called the $n$th Bernoulli numbers. From (1), we have

$$
\begin{equation*}
B_{n}(x)=(B+x)^{n}=\sum_{l=0}^{n}\binom{n}{l} B_{l} x^{n-l}, \quad n \in \mathbf{Z}_{+} . \tag{2}
\end{equation*}
$$

By (1) and (2), we get the recurrence relation for the Bernoulli numbers as follows:

$$
B_{0}=1, \quad(B+1)^{n}-B_{n}= \begin{cases}1, & \text { if } n=1  \tag{3}\\ 0, & \text { for } n>1\end{cases}
$$

Received by the editors on January 12, 2012, and in revised form on April 8, 2012.

From (2), we note that

$$
\begin{align*}
\frac{d}{d x} B_{n}(x) & =\sum_{l=0}^{n-1}\binom{n}{l} B_{l}(n-l) x^{n-l-1}  \tag{4}\\
& =n \sum_{l=0}^{n-1}\binom{n-1}{l} B_{l} x^{n-l-1}=n B_{n-1}(x)
\end{align*}
$$

By (4), we get

$$
\begin{equation*}
\int_{0}^{1} B_{n}(x) d x=\frac{1}{n+1} \int_{0}^{1} \frac{d}{d x}\left(B_{n+1}(x)\right) d x=\frac{B_{n+1}(1)-B_{n+1}}{n+1} \tag{5}
\end{equation*}
$$

Let $n \in \mathbf{N}$. Then, by (3) and (5), we see that

$$
\begin{equation*}
\int_{0}^{1} B_{n}(x) d x=0 \tag{6}
\end{equation*}
$$

Let $C([0,1])$ be the space of continuous functions on $[0,1]$. For $f \in C([0,1])$, the Bernstein operator for $f$ is defined by

$$
\begin{equation*}
\mathbf{B}_{n}(f, x)=\sum_{k=0}^{n} f\left(\frac{k}{n}\right) B_{k, n}(x), \quad \text { for } 0 \leq x \leq 1 \tag{7}
\end{equation*}
$$

where

$$
\begin{equation*}
B_{k, n}(x)=x^{k}(1-x)^{n-k}, \quad n, k \in \mathbf{Z}_{+}=\mathbf{N} \cup\{0\}, \quad(\text { see }[\mathbf{8}]) \tag{8}
\end{equation*}
$$

Here $B_{k, n}(x)$ are called the Bernstein polynomials of degree $n$. By (8), we easily see that $B_{k, n}(x)=B_{n-k, n}(1-x)$. From(1), we can derive the following equation:

$$
\begin{equation*}
\frac{t}{e^{t}-1} e^{x t}=\frac{-t}{e^{-t}-1} e^{-(1-x) t}, \quad(\text { see }[\mathbf{8}]) \tag{9}
\end{equation*}
$$

Thus, by (1) and (9), we get

$$
\begin{equation*}
\sum_{n=0}^{\infty} B_{n}(x) \frac{t^{n}}{n!}=\sum_{n=0}^{\infty}(-1)^{n} B_{n}(1-x) \frac{t^{n}}{n!}, \quad(\text { see }[8]) \tag{10}
\end{equation*}
$$

By comparing the coefficients on both sides of (10), we obtain the following reflection symmetric relation for Bernoulli polynomials:

$$
\begin{equation*}
B_{n}(x)=(-1)^{n} B_{n}(1-x), \quad\left(n \in \mathbf{Z}_{+}=\mathbf{N} \cup\{0\}\right) \tag{11}
\end{equation*}
$$

The purpose of this paper is to give some properties of several Bernoulli polynomials to express the integral of those polynomials from 0 to 1 in terms of beta and gamma functions. From those properties, we derive some relations on the integral of the product of Bernoulli polynomials and new identities on the Bernoulli numbers.

One may compare our results with those of Carlitz in [5].
2. On the integral of the product of Bernoulli polynomials. Let us take the integral for the product of Bernoulli polynomials and $x^{n}$ as follows: for $n \in \mathbf{Z}_{+}$,

$$
\begin{equation*}
\int_{0}^{1} x^{n} B_{n}(x) d x=\sum_{l=0}^{n}\binom{n}{l} B_{n-l} \int_{0}^{1} x^{n+l} d x=\sum_{l=0}^{n}\binom{n}{l} \frac{B_{n-l}}{n+l+1} . \tag{12}
\end{equation*}
$$

On the other hand, by (11), we get

$$
\begin{align*}
\int_{0}^{1} x^{n} B_{n}(x) d x & =(-1)^{n} \int_{0}^{1} x^{n} B_{n}(1-x) d x  \tag{13}\\
& =(-1)^{n} \sum_{l=0}^{n}\binom{n}{l} B_{n-l} \int_{0}^{1} x^{n}(1-x)^{l} d x \\
& =(-1)^{n} \sum_{l=0}^{n}\binom{n}{l} B_{n-l} \frac{\Gamma(n+1) \Gamma(l+1)}{\Gamma(n+l+2)} \\
& =(-1)^{n} \sum_{l=0}^{n} \frac{B_{n-l}}{n+l+1} \frac{\binom{n}{l}}{\binom{n+l}{l}},
\end{align*}
$$

where $\Gamma(x)$ is the gamma function with $\Gamma(n+1)=n!(n \in \mathbf{N})$. By (12) and (13), we obtain

Proposition 2.1. For $n \in \mathbf{Z}_{+}$, we have

$$
\sum_{l=0}^{n}\binom{n}{l} \frac{B_{n-l}}{n+l+1}=(-1)^{n} \sum_{l=0}^{n} \frac{B_{n-l}}{n+l+1} \frac{\binom{n}{l}}{\binom{n+l}{l}}
$$

Let $n \in \mathbf{N}$ with $n \geq 3$. Then we see that

$$
\begin{align*}
\int_{0}^{1} x^{n} B_{n}(x) d x= & \frac{B_{n}}{n+1}-\frac{n}{n+1} \int_{0}^{1} x^{n+1} B_{n-1}(x) d x  \tag{14}\\
= & \frac{B_{n}}{n+1}-\frac{B_{n-1}}{n+1} \frac{n}{n+2}+(-1)^{2} \frac{n(n-1)}{(n+1)(n+2)} \\
& \times \int_{0}^{1} x^{n+2} B_{n-2}(x) d x
\end{align*}
$$

Continuing this process, we obtain the following equation:

$$
\begin{align*}
\int_{0}^{1} & x^{n} B_{n}(x) d x  \tag{15}\\
= & \frac{B_{n}}{n+1}+\sum_{l=2}^{n-1} \frac{n(n-1) \cdots(n-l+2)}{(n+1)(n+2) \cdots(n+l)} B_{n-l+1}(-1)^{l-1} \\
& \quad+(-1)^{n-1} \frac{n(n-1) \cdots 2}{(n+1)(n+2) \cdots(2 n-1)} \int_{0}^{1} x^{2 n-1} B_{1}(x) d x \\
= & \frac{B_{n}}{n+1}+\sum_{l=2}^{n-1} \frac{n(n-1) \cdots(n-l+2)}{(n+1)(n+2) \cdots(n+l)} B_{n-l+1}(-1)^{l-1} \\
& \quad+(-1)^{n-1} \frac{n!}{(n+1)(n+2) \cdots(2 n-1)}\left(\frac{1}{2 n} B_{1}+\frac{1}{2 n+1}\right)
\end{align*}
$$

Therefore, by (13) and (15), we obtain the following theorem.

Theorem 2.2. For $n \in \mathbf{N}$, with $n \geq 3$, we have

$$
\begin{aligned}
& \frac{B_{n}}{n+1}+\sum_{l=2}^{n-1} \frac{n(n-1) \cdots(n-l+2)}{(n+1)(n+2) \cdots(n+l)}(-1)^{n-l-1} B_{n-l+1} \\
&+\frac{1}{\binom{2 n}{n}}\left(\frac{1}{2}-\frac{2 n}{2 n+1}\right)=\sum_{l=0}^{n} \frac{\binom{n}{l}}{\binom{n+l}{l}} \frac{B_{n-l}}{n+l+1} .
\end{aligned}
$$

Our result in (13) is related to Euler's beta function, which is defined by

$$
\begin{equation*}
B(n, m)=\int_{0}^{1} x^{n-1}(1-x)^{m-1} d x \tag{16}
\end{equation*}
$$

Thus, by (16), we know the following relation between beta and gamma function:

$$
\begin{equation*}
B(n, m)=\frac{\Gamma(n) \Gamma(m)}{\Gamma(n+m)} \tag{17}
\end{equation*}
$$

For $n, k \in \mathbf{Z}_{+}$, let us consider the following integral for the product of Bernoulli polynomials and $x^{k}$ :

$$
\begin{align*}
\int_{0}^{1} x^{k} B_{n}(x) d x & =(-1)^{n} \int_{0}^{1} x^{k} B_{n}(1-x) d x  \tag{18}\\
& =(-1)^{n} \sum_{l=0}^{n}\binom{n}{l} B_{n-l} \int_{0}^{1} x^{k}(1-x)^{l} d x \\
& =(-1)^{n} \sum_{l=0}^{n}\binom{n}{l} B_{n-l} B(k+1, l+1) \\
& =(-1)^{n} \sum_{l=0}^{n}\binom{n}{l} B_{n-l} \frac{\Gamma(k+1) \Gamma(l+1)}{\Gamma(l+k+2)} .
\end{align*}
$$

Therefore, by (18), we obtain the following proposition.

Proposition 2.3. For $n, k \in \mathbf{Z}_{+}$, we have

$$
\begin{aligned}
\int_{0}^{1} x^{k} B_{n}(x) d x & =(-1)^{n} \sum_{l=0}^{n}\binom{n}{l} B_{n-l} \frac{\Gamma(k+1) \Gamma(l+1)}{\Gamma(l+k+2)} \\
& =(-1)^{n} \sum_{l=0}^{n} \frac{B_{n-l}}{l+k+1} \frac{\binom{n}{l}}{\binom{k+l}{l}} .
\end{aligned}
$$

Let us assume that $n, k \in \mathbf{N}$. Then

$$
\begin{equation*}
\int_{0}^{1} x^{k} B_{n}(x) d x=\frac{B_{n+1}}{n+1}-\frac{k}{n+1} \int_{0}^{1} x^{k-1} B_{n+1}(x) d x . \tag{19}
\end{equation*}
$$

From (18) and (19), we can derive the following equation:

$$
\begin{align*}
\int_{0}^{1} x^{k} B_{n}(x) d x= & \frac{B_{n+1}}{n+1}-\frac{k}{n+1} \sum_{l=0}^{n+1}\binom{n+1}{l}  \tag{20}\\
& \times B_{n+1-l}(-1)^{n+1} B(k, l+1)
\end{align*}
$$

$$
\begin{aligned}
= & \frac{B_{n+1}}{n+1}+\frac{k(-1)^{n}}{n+1} \sum_{l=0}^{n+1}\binom{n+1}{l} \\
& \times B_{n+1-l} B(k, l+1)
\end{aligned}
$$

By Proposition 2.3 and equation (20), we obtain the following theorem.

Theorem 2.4. For $n, k \in \mathbf{N}$, we have

$$
\begin{aligned}
\frac{B_{n+1}}{n+1}= & \frac{k}{n+1} \sum_{l=0}^{n+1}\binom{n+1}{l} B_{n+1-l} \frac{\Gamma(k) \Gamma(l+1)}{\Gamma(k+l+1)} \\
& -\sum_{l=0}^{n}\binom{n}{l} B_{n-l} \frac{\Gamma(k+1) \Gamma(l+1)}{\Gamma(l+k+2)}
\end{aligned}
$$

That is,

$$
\frac{B_{n+1}}{n+1}=\frac{k}{n+1} \sum_{l=0}^{n+1} \frac{\binom{n+1}{l}}{\binom{k+l-1}{l}} \frac{B_{n+1-l}}{k+l}-\sum_{l=0}^{n} \frac{\binom{n}{l}}{\binom{k+l}{l}} \frac{B_{n-l}}{l+k+1}
$$

Definite integrals for the product of two Bernoulli polynomials can be given by the following relation:

$$
\begin{align*}
\int_{0}^{1} B_{n}(x) B_{m}(x) d x= & \sum_{l=0}^{n}\binom{n}{l} B_{l}(-1)^{m}  \tag{21}\\
& \times \sum_{k=0}^{m}\binom{m}{k} B_{k} \int_{0}^{1} x^{n-l}(1-x)^{m-k} d x \\
= & \sum_{l=0}^{n}\binom{n}{l} B_{l}(-1)^{m} \\
& \times \sum_{k=0}^{m}\binom{m}{k} B_{k} B(n-l+1, m-k+1) \\
= & \sum_{l=0}^{n} \sum_{k=0}^{m}\binom{n}{l}\binom{m}{k}(-1)^{m} \\
& \times B_{l} B_{k} B(n-l+1, m-k+1) .
\end{align*}
$$

Let $m, n \in \mathbf{N}$ with $m \geq 2$. Then we get

$$
\int_{0}^{1} B_{n}(x) B_{m}(x) d x=-\frac{m}{n+1} \int_{0}^{1} B_{n+1}(x) B_{m-1}(x) d x
$$

Continuing this process, we get

$$
\begin{align*}
& \text { 22) } \int_{0}^{1} B_{n}(x) B_{m}(x) d x  \tag{22}\\
& =(-1)^{m-1} \frac{m(m-1) \cdots 1}{(n+1)(n+2) \cdots(n+m-1)} \int_{0}^{1} B_{n+m-1}(x) B_{1}(x) d x .
\end{align*}
$$

It is easy to show that

$$
\begin{align*}
\int_{0}^{1} B_{n+m-1}(x) B_{1}(x) d x= & {\left[\frac{B_{n+m}(x)}{m+n} B_{1}(x)\right]_{0}^{1} }  \tag{23}\\
& -\frac{1}{m+n} \int_{0}^{1} B_{m+n}(x) d x \\
= & \frac{B_{m+n}}{m+n} B_{1}(1)-\frac{B_{n+m}}{m+n} B_{1} \\
= & \frac{B_{m+n}}{m+n}+\frac{B_{m+n} B_{1}}{m+n}-\frac{B_{m+n} B_{1}}{m+n}
\end{align*}
$$

From (22) and (23), we note that

$$
\begin{align*}
\int_{0}^{1} B_{n}(x) B_{m}(x) d x & =(-1)^{m-1} \frac{m!B_{n+m}}{(n+1)(n+2) \cdots(n+m)}  \tag{24}\\
& =(-1)^{m-1} \frac{m!n!B_{n+m}}{(n+m)!}=(-1)^{m-1} \frac{B_{m+n}}{\binom{m+n}{n}}
\end{align*}
$$

Therefore, by (21) and (23), we obtain the following theorem.
Theorem 2.5. For $m, n \in \mathbf{N}$ with $m \geq 2$, we have

$$
-\frac{B_{n+m}}{\binom{m+n}{n}}=\sum_{l=0}^{n} \sum_{k=0}^{m}\binom{n}{l}\binom{m}{k} B_{l} B_{k} \frac{\Gamma(n-l+1) \Gamma(m-k+1)}{\Gamma(n+m-l-k+2)} .
$$

That is,

$$
-\frac{B_{n+m}}{\binom{m+n}{n}}=\sum_{l=0}^{n} \sum_{k=0}^{m} \frac{\binom{n}{l}\binom{m}{k}}{\binom{n+m-l-k}{n-l}} \frac{B_{l} B_{k}}{n+m-l-k+1} .
$$

From (21), we note that

$$
\begin{align*}
& \int_{0}^{1} B_{n}(x) B_{m}(x) d x  \tag{25}\\
= & \sum_{l=0}^{n} \sum_{k=0}^{m} \sum_{j=0}^{m-k}\binom{n}{l}\binom{m}{k}\binom{m-k}{j}(-1)^{k-j} \frac{B_{l} B_{k}}{n+m-l-k-j+1}
\end{align*}
$$

Therefore, by (25), we obtain the following corollary.

Corollary 2.6. For $m, n \in \mathbf{N}$ with $m \geq 2$, we have

$$
\begin{aligned}
& (-1)^{m-1} \frac{B_{n+m}}{\binom{m+n}{n}} \\
& =\sum_{l=0}^{n} \sum_{k=0}^{m} \sum_{j=0}^{m-k}\binom{n}{l}\binom{m}{k}\binom{m-k}{j}(-1)^{k-j} \frac{B_{l} B_{k}}{n+m-l-k-j+1} .
\end{aligned}
$$

From (1), we can derive the following equation:

$$
\begin{align*}
& \sum_{m, n=0}^{\infty}\left(m B_{m-1}(x) B_{n}(x)+n B_{n-1}(x) B_{m}(x)\right) \frac{t^{m}}{m!} \frac{s^{n}}{n!}  \tag{26}\\
& =\frac{d}{d x}\left(\frac{t}{e^{t}-1} e^{t x}\right)\left(\frac{s}{e^{s}-1} e^{s x}\right)=\frac{d}{d x}\left(\frac{t s e^{(s+t) x}}{\left(e^{t}-1\right)\left(e^{s}-1\right)}\right) \\
& =(t+s) \frac{t s}{\left(e^{t}-1\right)\left(e^{s}-1\right)} e^{(s+t) x}
\end{align*}
$$

It is easy to show that

$$
\begin{align*}
(t+s) & \frac{t s}{\left(e^{t}-1\right)\left(e^{s}-1\right)} e^{(s+t) x}  \tag{27}\\
& =\frac{(s+t) e^{x(s+t)}}{e^{s+t}-1}\left(s t+\frac{s t}{e^{t}-1}+\frac{s t}{e^{s}-1}\right) \\
& =\left(\sum_{l=0}^{\infty} B_{l}(x) \frac{(t+s)^{l}}{l!}\right)\left(s t+s \sum_{r=0}^{\infty} B_{r} \frac{t^{r}}{r!}+t \sum_{r=0}^{\infty} B_{r} \frac{s^{r}}{r!}\right)
\end{align*}
$$

$$
\begin{aligned}
= & \left(\sum_{m, n=0}^{\infty} \frac{B_{m+n}(x) t^{m} s^{n}}{m!n!}\right)\left(\sum_{r=0}^{\infty} \frac{B_{2 r}}{(2 r)!}\left(t^{2 r} s+t s^{2 r}\right)\right) \\
= & \sum_{m, n=0}^{\infty}\left\{\sum_{r=0}^{\infty} \frac{B_{2 r}}{(2 r)!} \frac{B_{m+n}(x)}{m!n!}\left(t^{2 r+m} s^{n+1}+t^{m+1} s^{2 r+n}\right)\right\} \\
= & \sum_{m, n=0}^{\infty} \sum_{r=0}^{\infty} \frac{B_{2 r}}{(2 r)!}\left(\frac{B_{m-2 r+n-1}(x)}{(m-2 r)!(n-1)!} \frac{t^{m} s^{n} m!}{m!}\right. \\
& \left.+\frac{t^{m} s^{n} n!B_{m-2 r+n-1}(x)}{(m-1)!(n-2 r)!} \frac{1}{n!}\right) \\
= & \sum_{m, n=0}^{\infty}\left\{\sum _ { r = 0 } ^ { \infty } B _ { 2 r } \left(\binom{m}{2 r} n B_{m-2 r+n-1}(x)\right.\right. \\
& \left.\left.+\binom{n}{2 r} m B_{m-2 r+n-1}(x)\right)\right\} \frac{t^{m}}{m!} \frac{s^{n}}{n!} .
\end{aligned}
$$

By (26) and (27), we get
(28) $m B_{m-1}(x) B_{n}(x)+n B_{m}(x) B_{n-1}(x)$

$$
=\sum_{r=0}^{\infty} B_{2 r} B_{m+n-2 r-1}(x)\left(\binom{m}{2 r} n+\binom{n}{2 r} m\right) .
$$

Thus, we have

$$
\begin{align*}
\frac{d}{d x}\left(B_{m}(x) B_{n}(x)\right) & =m B_{m-1}(x) B_{n}(x)+n B_{m}(x) B_{n-1}(x)  \tag{29}\\
& =\sum_{r=0}^{\infty} B_{2 r} B_{m+n-2 r-1}(x)\left\{\binom{m}{2 r} n+\binom{n}{2 r} m\right\}
\end{align*}
$$

Thus, by (29), we get

$$
\begin{align*}
B_{m}(x) B_{n}(x) & =\int \frac{d}{d x}\left(B_{m}(x) B_{n}(x)\right) d x  \tag{30}\\
& =\sum_{r=0}^{\infty} \frac{B_{2 r} B_{m+n-2 r}(x)}{m+n-2 r}\left(\binom{m}{2 r} n+\binom{n}{2 r} m\right)+C
\end{align*}
$$

where $C$ is some constant. Let $m, n \in \mathbf{N}$. Then we see that

$$
\begin{equation*}
\int_{0}^{1} B_{m}(x) B_{n}(x) d x=C \int_{0}^{1} d x=C . \tag{31}
\end{equation*}
$$

Hence,

$$
C=\int_{0}^{1} B_{m}(x) B_{n}(x) d x=(-1)^{m-1} \frac{n!m!}{(n+m)!} B_{n+m}, \quad(c f . \quad(24))
$$

From (30), and (31), we have
(32) $\quad B_{m}(x) B_{n}(x)$

$$
=\sum_{r=0}^{\infty}\left(\binom{m}{2 r} n+\binom{n}{2 r} m\right) B_{2 r} \frac{B_{m+n-2 r}(x)}{m+n-2 r}+(-1)^{m+1} \frac{m!n!}{(m+n)!} B_{m+n}
$$

where $m, n \in \mathbf{N}$. For $m, n, p \in \mathbf{N}$, by (24) and (32), we get

$$
\begin{align*}
& \int_{0}^{1} B_{m}(x) B_{n}(x) B_{p}(x) d x  \tag{33}\\
&= \int_{0}^{1} B_{p}(x)\left(B_{m}(x) B_{n}(x)\right) d x \\
&= \sum_{r=0}^{\infty}\left(\binom{m}{2 r} n+\binom{n}{2 r} m\right) \frac{B_{2 r}}{m+n-2 r} \\
& \times \int_{0}^{1} B_{m+n-2 r}(x) B_{p}(x) d x \\
&+\frac{(-1)^{m+1} B_{m+n}}{\binom{m+n}{n}} \int_{0}^{1} B_{p}(x) d x \\
&= \sum_{r=0}^{\infty}\left(\binom{m}{2 r} n+\binom{n}{2 r} m\right) B_{2 r} \frac{p!(m+n-2 r)!(-1)^{p+1} B_{m+n+p-2 r}}{(m+n-2 r)(m+n+p-2 r)!} \\
&=(-1)^{p+1} \sum_{r=0}^{\infty}\left(\binom{m}{2 r} n+\binom{n}{2 r} m\right) \frac{B_{2 r} B_{m+n+p-2 r}}{\binom{m+n+p-2 r}{p}(m+n-2 r)}
\end{align*}
$$

On the other hand,

$$
\begin{align*}
\int_{0}^{1} B_{m}(x) B_{n}(x) B_{p}(x) d x= & (-1)^{p} \sum_{l=0}^{m} \sum_{j=0}^{n} \sum_{k=0}^{p}\binom{m}{l}\binom{n}{j}\binom{p}{k}  \tag{34}\\
& \times B_{m-l} B_{n-j} B_{k} \int_{0}^{1} x^{l+j}(1-x)^{p-k} d x \\
= & (-1)^{p} \sum_{l=0}^{m} \sum_{j=0}^{n} \sum_{k=0}^{p}\binom{m}{l}\binom{n}{j}\binom{p}{k} \\
& \times B_{m-l} B_{n-j} B_{k} B(l+j+1, p-k+1) \\
= & (-1)^{p} \sum_{l=0}^{m} \sum_{j=0}^{n} \sum_{k=0}^{p}\binom{m}{l}\binom{n}{j}\binom{p}{k} \\
& \times B_{m-l} B_{n-j} B_{k} \frac{\Gamma(l+j+1) \Gamma(p-k+1)}{\Gamma(l+j+p-k+2)}
\end{align*}
$$

Therefore, by (33) and (34), we obtain the following theorem.

Theorem 2.7. For $m, n, p \in \mathbf{N}$, we have

$$
\begin{aligned}
\sum_{r=0}^{\infty} & \left(\binom{m}{2 r} n+\binom{n}{2 r} m\right) \frac{B_{2 r} B_{m+n+p-2 r}}{\binom{m+n+p-2 r}{p}(m+n-2 r)} \\
& =-\sum_{l=0}^{m} \sum_{j=0}^{n} \sum_{k=0}^{p}\binom{m}{l}\binom{n}{j}\binom{p}{k} \frac{B_{m-l} B_{n-j} B_{k}}{(l+j+p-k+1)\binom{l+j+p-k}{l+j}}
\end{aligned}
$$

Acknowledgments. The authors would like to express their sincere gratitude to the referee for his/her valuable suggestions and comments.

## REFERENCES

1. S. Araci, D. Erdal and D.J. Kang, Some new properties on the $q$-Genocchi numbers and polynomials associateds with $q$-Bernstein plynomials, Honam Math. J. 33 (2011), 261-270.
2. A. Bayad, Fourier expansion of Apostol-Bernoulli, Apostol-Euler and ApostolGenocchi polynomials, Math. Comp. 80 (2010), 2219-2221.
3. A. Bayad and T. Kim, Identities involving values of Bernstein, q-Bernoulli, and q-Euler polynomials, Russ. J. Math. Phys. 18 (2011), 133-143.
4. I.N. Cangul, V. Kurt, H. Ozden and Y. Simsek, On the higher-order $w-q$ Genocchi numbers, Adv. Stud. Cont. Math. 19 (2009), 39-57.
5. L. Carlitz, Note on the integral of the product of several Beroulli polynomials, J. Lond. Math. Soc. 34 (1959), 361-363.
6. L.C. Jang, A note on Kummer Congruence for the Bernoulli numbers of higher order, Proc. Jangjeon Math. Soc. 5 (2002), 141-146.
7. L.C. Jang and H.K. Park, Non-archimedean integration associated with $q$ Bernoulli numbers, Proc. Jangjeon Math. Soc. 5 (2002), 125-129.
8. D.S. Kim, Identities of symmetry for generalized Euler polynomials, Int. J. Comb. 2011 (2011), Article ID 432738, 12 pages.
9. D.S. Kim, T. Kim, D.V. Dolgy, S.H. Lee and S-H.Rim, Some new identities on the Bernoulli and Euler numbers, Discr. Dyn. Nature Soc. 2011 (2011), Article ID 856132, 10 pages.
10. G. Kim, B. Kim and J. Choi, The DC algorithm for computing sums of powers of consecutive integers and Bernoulli numbers, Adv. Stud. Cont. Math. 17 (2008), 137-145.
11. T. Kim, Euler numbers and polynomials associated with zeta function, Abstr. Appl. Anal. 2008 (2008), Article ID 581582, 11 pages.
12. $\qquad$ , Note on the Euler numbers and polynomials, Adv. Stud. Cont. Math. 17 (2008), 131-136.
13. $\qquad$ , q-Volkenborn integration, Russ. J. Math. Phys. 9 (2002), 288-299.
14. $\qquad$ , $q$-Bernoulli numbers and polynomials associated with Gaussian binomial codfficients, Russ. J. Math. Phys. 15 (2008), 51-57.
15. , Symmetry p-adic invariant integral on $\mathbf{Z}_{p}$ for Bernoulli and Euler polynomials, , J. Diff. Eq. Appl. 14 (2008), 1267-1277.
16. A. Kudo, A congruence of generalized Bernoulli numbers for the character of first kind, Adv. Stud. Cont. Math. 2 (2000), 1-8.
17. H. Ozden, I.N. Cangul and Y. Simsek, Multivariate interpolation functions of higher-order $q$-Euler numbers and their applications, Abstr. Appl. Anal. 2008 (2008), Article ID 390857, 16 pages.
18. $\qquad$ , Remarks on $q$-Bernoulli numbers and polynomials associated with Daehee numbers, Adv. Stud. Cont. Math. 18 (2009), 41-48.
19. S-H. Rim, J.H. Jin, E-J. Moon and S-J. Lee, Some identities on the q-Genocchi polynomials of higher-order and $q$-Stirling numbers by the Fermionic p-adic integral on $\mathbf{Z}_{p}$, Int. J. Math. Math. Sci. 2010 (2010), Article ID 860280, 14 pages.
20. C.S. Ryoo, On the generalized Barnes type multiple $q$-Euler polynomials twisted by ramified roots of unity, Proc. Jangjeon Math. Soc. 13 (2010), 255-263.
21. $\qquad$ , Some relations between twisted $q$-Euler numbers and Bernstein polynomials, Adv. Stud. Cont. Math. 21 (2011), 217-223.
22. Y. Simsek, Generating functions of the twisted Bernoulli numbers and polynomials associated with their interpolation function, Adv. Stud. Cont. Math. 16 (2008), 251-278.
23. $\qquad$ , Special functions related to Dedekind-type DC-sums and their applications, Russ. J. Math. Phys. 17 (2010), 495-508.

Department of Mathematics, Sogang University, Seoul 121-742, S. Korea
Email address: dskim@sogang.ac.kr
Department of Mathematics, Kwangwoon University, Seoul 139-701, S. Korea
Email address: tkkim@kw.ac.kr

